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Calculate vy.

dsoln:  The lower left 12kl and 24ks2 R's are
wn PamLLeL. The “pper right wire and
24 k2 are n parallel as well.

12.er”2% kL = 12ka.- 1”2 = I2ks- 2 = 8kx
3

osz|| 24k = 0w (wire)
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We see +that +the 0k (s (n parallel wit)
the |5k

ok || 15 kZ = Sk 2|[3 =56k 6 =6ke
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We have +two Sepqrq-lze circui-f’:-, across the
2.1V source: one dircyit (s the 2.5 wmA
source, and the other circuit (s all the Rs.
We may solve *these circuits squrq-&el)r)
meaning we may ignore the 2.1V source.
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This s a V-divider-

vi= 2.\V-_6ka = 2.lVv- & :'z.lu(z)
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